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1000 1000

V,=72x =20m/s , V,=36x =10m /s
3600 3600

%mVl2 = %(6000)(20)2 = (3000)(400) =1200000J

K, = % mv ? = %(6000)(10)2 — (3000)(100) = 300000

AK =K, -K, =300000-1200000 =-900000J
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E =10x40=400KJ = K :£x400:8OKJ

100
K =%mv * = (80x1000) :%(800)\/ g

100:%V =V *=200=V =+/200=14m/s
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W, =Fd coséd, = (10)(2) cos0 = 20J

, = F,d cosé, = (50)(2) cos30 =86J

, cosd, = (20)(2) cos120 = -20J

. coséd, =(5)(2) cos180 =-10J

=W AW, WL HW,
\_>1200 c0s120 = —cos60 =-0.5 =20+86-20-10=76J

d

F, = 20N F, =50N
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W, >0=K,>K, =V, >V,
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W, =0=K, =K, =V,=V,
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W, <0=K, <K, =V, <V,
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F, =10N F, =20N W, =Fd cosé, = (30)(2) cos 0 = 60J
W, =F.,d cosé, =(20)(2) cos30 =34.4J
F=30N { W,=Fd cosé, =(10)(2) cos120 = —10J
W, =60—10+34.4 =84.4]

W, =K, -K, =W, =%mv22 —%mvl2 =

84.4 =%(4)\/22 —%(4)(0) L BA4=N DV =847'4= 1225V, =J422 =6.4m /s




W, =Fd cosé, =(20)(10) cos60 =100J
W, =F,d cosé, =F,(10) cos0 =10F,
W, =100+10F,

K, =1mv12 :1(20)(2)2 = 40J
2 2
1 » 1 2

K2 :Ern\/2 :E(ZO)(4) :160J

W, =K, —K, =100+10F, =160—40 = 10F, = 20 = F, = 2N
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K, = Emvlz = 5(4)(0)2 =0

K, =%mV22 =%(4)(8)2 =128)

W, =Fd cosé@ =F (10)cos0 =10F

W, =K, -K,=10F =128—-0=

128

F =12.8N
0

FAKG pp b omr p SO Gille ¢ Jlo
CS oy 58w bl g)ld e (YL
M)L;o8m/84.’u] Q&)ww‘_s‘.@‘)b9ob)§

Wl (Fg0 N> pue 2 d)lg S5 (590




